

$\Delta.17$ $(t) = (\cos(t), \sin(t)), t \in [0, 2\pi]$

$t = \frac{\pi}{4} \rightarrow P\left(\frac{\sqrt{2}}{2}, \frac{\sqrt{2}}{2}\right)$

$\vec{v} = (-\sin t, \cos t) \quad \vec{v} \perp \xi$

$\vec{v} = (v_1, v_2) = \left(-\frac{\sqrt{2}}{2}, \frac{\sqrt{2}}{2}\right)$

$\xi: \langle x(s), y(s) \rangle = \left\langle \frac{\sqrt{2}}{2}, \frac{\sqrt{2}}{2} \right\rangle + s \cdot \left\langle -\frac{\sqrt{2}}{2}, \frac{\sqrt{2}}{2} \right\rangle, s \in \mathbb{R}$

$\Delta.19$ $\nabla f = \left\langle \frac{\partial f}{\partial x}, \frac{\partial f}{\partial y} \right\rangle = \langle 3x^2 + 3y, 10y^3 \rangle$

$P(3,0) \quad \vec{v} \perp \xi \quad \vec{v} = \left\langle -\frac{\partial f}{\partial y}(P), \frac{\partial f}{\partial x}(P) \right\rangle$

$\xi: \langle x(t), y(t) \rangle = \langle 3, 0 \rangle + t \langle -3, 27 \rangle$

$\nabla f = \langle 2x + 3z, 4y, 3x^2 \rangle$

$\vec{v} = \nabla f(P) = \langle 3, 8, 3 \rangle$

$\vec{v} \perp \xi \Rightarrow \langle x-1, y-2, z-\frac{1}{3} \rangle \cdot \langle 3, 8, 3 \rangle = 0$

$3x + 8y + 3z = 20$

$\Delta.20$ $\nabla f_1 = \langle 2x, 2y, 2z \rangle$

$\nabla f_2 = \langle 2x, 2y-2, 0 \rangle$

$\vec{v} = \nabla f_1 \times \nabla f_2 = \begin{pmatrix} \vec{i} & \vec{j} & \vec{k} \\ 2 & 2 & 2 \\ 2 & 0 & 0 \end{pmatrix} = \begin{pmatrix} 2 & 2 & -4 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix}$

$2 \cdot (2\vec{j} \cdot \vec{j}) - 2\vec{k} = \langle 0, 4\vec{j}, -4 \rangle$

$\Delta.21$

$(t): \mathbb{R} \rightarrow \mathbb{R}^2$

$t \rightarrow (x_1(t), x_2(t))$

a) $x_2(t) = e^{x_1(t)} \quad x_1(t) = t$

$x_2(t) = e^t$

b) $\frac{x_1(t)}{\sqrt{2}} + \frac{x_2(t)}{\sqrt{2}} = 1 \Rightarrow x_2(t) = \cos t$

$x_1(t) = \frac{1}{2} \sin t$

c) $\langle x(t), y(t), z(t) \rangle = \langle 0, 0, 0 \rangle + t \langle a, b, c \rangle$

$\Delta.24$ $(t) = \langle 1, \sin t + t \cos t, \cos t - t \sin t \rangle$

$t_1: (t_1) = \langle 0, 0, 0 \rangle \rightarrow t_1 = 0$

$t_2: (t_2) = \langle n, 0, -n \rangle \rightarrow t_2 = n$

$S = \int_0^n \sqrt{2 + t^2} dt$

$\Delta.26$

$(t): \mathbb{R} \rightarrow \mathbb{R}^3$

$t \rightarrow \left(\int t dt, \int e^t dt, \int t^2 dt \right)$

$t \rightarrow \left(\frac{t^2}{2} + c_1, e^t + c_2, \frac{t^3}{3} + c_3 \right)$

$\vec{v} = (0, -5, 1) = (c_1, 1 + c_2, c_3) \Leftrightarrow \begin{cases} c_1 = 0 \\ c_2 = -6 \\ c_3 = 1 \end{cases}$

$\Delta. 27$

$s'(t) = (2t, 3t^2 - 3, 0)$
 z.B. Sympt. $t=2$:
 $(X(t), Y(t), Z(t)) = (4, 2, 0) + t \cdot (4, 9, 0)$
 $t' = t - 2$
 $t' = 1 \rightarrow (8, 11, 0)$

$\Delta. 27$

$T(t) = (X(t), Y(t), Z(t)), t \in [a, b]$
 $|T(t)| = |s'(t)|, \frac{1}{|s'(t)|} = 1$
 $T(t) \cdot T(t) = 1$
 $\Rightarrow \frac{d(T(t) \cdot T(t))}{dt} = 0 \Leftrightarrow (X(t)^2 + Y(t)^2 + Z(t)^2)' = 0$
 $\Leftrightarrow 2(X(t) \cdot X'(t) + Y(t) \cdot Y'(t) + Z(t) \cdot Z'(t)) = 0$
 $\Leftrightarrow T(t) \cdot T'(t) = 0$

$T'(t) = \left(\frac{s'(t)}{|s'(t)|} \right)' = \frac{s''(t)}{|s'(t)|} + s'(t) \left(\frac{1}{|s'(t)|} \right)'$
 $\left(\frac{1}{|s'(t)|} \right)' = \left(\frac{-\frac{1}{2}}{|s'(t)|^3} \right)' =$
 $= -\frac{1}{2} \frac{1}{|s'(t)|^3} \cdot 2(s'_1(t) \cdot s'_1(t) + s'_2(t) \cdot s'_2(t) + s'_3(t) \cdot s'_3(t))$
 $= -\frac{s'(t) \cdot s''(t)}{|s'(t)|^3}$

$s'(t) = (-\sin t, \cos t, 1)$
 Evv. Hinkaus, S 7, 0.
 $L(u) = \int_0^u |s'(t)| dt = \int_0^u \sqrt{\sin^2 t + \cos^2 t + 1} dt =$
 $= \int_0^u \sqrt{2} dt = \sqrt{2} \cdot u$